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Plot Sensor and FgRec Data
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P3-12

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERR

06:30 283 150.0 2.888 [Z=| 1Ri%e06:30 Bah (FEEEEE)
07:30 283 150.0 2.888 |Z=| {Ri%e07:30 Bz (KREAEHE)
08:30 283 150.0 2.888 |Z=| {Ri%e08:30 Bz (KREERHE)
09:30 283 150.0 2.888 |Z=| {Ri%e09:30 Bz (KREERHSE)
10:45 283 150.0 2. 888 FA| {Ri&@10:45 Bz (GRAERE)
12:55 283 150.0 2.888 FB| {Ri&@12:55 B3 (FRAFERSE)
13:50 283 150.0 2.888 FA| {Ri&@13:50 Bzl (GkAEEE)
14:40 283 150.0 2.888 FA| {Ri&e@14:40 Bz (GRAERE)
15:30 283 150.0 2. 888 FE| 1Ri%@15:30 B3 (kABERSE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.6

TERRHER 2 STEIELRTF (184.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (329:68.0), set to 329 ml.

RBVZW S RIERPH 5.6, BT FEFNIEIZPH, FEFohiFE

FREVEIN S K IKEC 2200. 0

153.0), AIEEHT—@E XA HS




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

"MW ]

P3-12_0, Day=72 (2025-06-13)
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Warning: lcol [FVI',| "FVO’'] missing
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FRV ~ e

[P St s Sttt et o o

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2914. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-12

AyiE) | EBIAT (FD) | EBE (EH/4) | BEBRERE (B/R) XS ERR

05:35 283 150.0 2.888 FE| 1BRi%@05:35 B (FkAERRSE)
06:35 283 150.0 2. 888 FE| 1BRi%@06:35 Bz (kBEREE)
08:40 283 150.0 2.888 FH| 1BRi%@08:40 Bzh (KABERSE)
12:55 283 150.0 2.888 |K/| f{Ri&e12:55 Bzl (REAERSE)
13:40 283 150.0 2. 888 FE| 1BRi%@13:40 Bz (kBERSE)
14:25 283 150.0 2.888 FA| {Ri&e14:25 Bzl CGRAEREE)
15:15 283 150.0 2.888 |Z=| fBRige15:15 Bzh (RAEESE)
16:35 283 150.0 2.888 |Z=| {Ri%e16:35 Bz (KREAEHE)
23t 2264.0 (8%) 1200.0 32 HE%KEC: 2200, PH: 5.6

TERRHLER 2 STEIELRTF (184.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (254:81.0), set to 254 ml.

REVZ WS RIERPH 5.6, BT FEFNIEIZPH, FEFohiFE

FH[EKECE (1803.0 vs 3590.0) id 5
FREVEIN S K KEC 2200. 0

153.0), AlEEHT—@ L XA HS




P3-12_0, Day=71 (2025-06-12)
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